/-7‘} .

INSTALLATION INSTRUCTIONS

PLEASE READ CAREFULLY AND SAVE THESE
INSTRUCTIONS, AS YOU MAY NEED THEM AT A LATER
DATE.

CAUTION - Turn off the main power at the circuit breaker before
installing the fixture, in order to prevent possible shock.

Remove the fixture and the mounting package from the box and make
sure that no parts are missing by referencing the illustrations on the
installation instructions.

FOR CEILING MOUNT (Fig.4 &5)

1 A)Place the #8-32 HEXNUTS (3.) onto the #8-32 FIXTURE MOUNTING SCREWS (4.),And
attach the FIXTURE MOUNTING SCREWS to the MOUNTING BRACKET (2.), or universal
mounting piate (whichever is provided).Do not tighten the HEX NUTS at this time. (Fig.4)

B) If the fixture uses a single 1/8” IPS NIPPLE (4.) for mounting, thread the 1/8” IPSHEX NUT
(3) onto the NIPPLE. and screw the NIPPLE into the MOUNTING BRACKET (2.), Without tightening
the HEX NUT (Fig 5)

2 Pullthe power supply wires out from the OUTLET BOX (1.), and mount the MOUNTING BRACKET
(2) or the universal mounting plate to the OUTLET BOX. using MOUNTING SCREWS (10.).

3 Attach the power supply wires to the fixture lead wires by connecting BLACK to BLACK (6.),And
WHITE to WHITE (5.) Aitach the POWER SUPPLY GROUND WIRE (7.) fromthe OUTLET BOX
(1).And the FIXTURE GROUND WIRE (8.) from the fixture to the green GROUND SCREW (9.) On
the MOUNTING BRACKET (2.).or, connect both wires together using the correct size of wire
connectors.

4 Place the CANOPY (11.) on the fixture overthe OUTLET BOX (1.) and cnto the fixture mounting
screws [or NIPPLE(4.)].and adjust the #8-32 fixture mounting screws (or NIPPLE ) until they protrude
out from the CANOPY 1/4”, Remove the CANOPY and secure the position of the fixture mounti~.q
screws (or NIPPLE) by tightening the HEX NUT (S) (3.) against the MOUNTING BRACKET (- ).
Place the CANOPY back onto the fixture mounting serews, (or NIPPLE). and secure into plare using
the DECORATIVE NUTS (12.) Provided.

5 Screw in lightbulbs that do not exceed the maximum wattage specified on the
rating label, into the socket(s) on the fixture.

INSTALLATION COMPLETED

FOR CHAIN - SUSPENDED CEILING MOUNT (Fig €)

1 Screwthe 1/8"1PS HEXNUTS (5.) onto the 1/8" IPS NIPPLE (4.; and'nen attacn the end of the
NIPPLE that has the HEX NUT tothe MOUNTING BRACKET {?.), Co rottighten the HEX NUT.
Pull the SUPPLY GROUND WIRES (8.) out fromthe QUTLE™ ROX{1.),ana attach the MOUNTING
BRACKET (2.) assembly to the OUTLET BOX, by using the siotted holes on the MOUNTING
BRACKET and the MOUNTING SCREWS (3.) Previded.

2 Thread a 1/8”IPS HEXNUT (5.), and the SCREW COLLAR LCOP (6.) onto the NIPPLE (4.) End
that is facing down, but do not tighten the HEX NUT. Piace the CANOPY (15.)overthe OUTLET
BOX(1.) and adjustthe SCREW COLLAR 1 OOP and W!IPPLE until the outside threads on the
SCREWCOLLAR LOOP is centered with tho center hole opening or the CANOPY. Take away the
CANOPY and tighten the HEX NUTS downon tie MOUNTING BRACKET (2.), and the SCREW
COLLARLOOP.

3 Open upthe end links ofthe CHAIN (17.} and attach one end ofthe CHAIN onto the FIXTURE
LOOP (18), Slide the THREADED RING (16.) from the SCREW COLLAR LOOP (6.), and the
CANOPY (15.)onto the CHAIN in that order. and attach the other end of the CHAIN onto the SCREW
COLLARLOOP. Close the ends of the chain tinks

4 Unravel the fixture's lead and ground wires and thread the lead and ground wires through every
other link of the CHAIN (17.), and outthrough the SCREW COLLAR LOOP (6.) and NIPPLE (4.)
assembly. Starting with the chain link attached to the FIXTURE'S LOOP (18.).

5 Attach the power supply wires to the fixture lead wires by connecting the BLACK POWER SUPPLY
WIRE (11 ) to the SMOOTH FIXTURE LEAD WIRE (12.), andthe WHITE POWER SUPPLY WIRE
(9) to the RIBBED FIXTURE LEAD WIRE (10.), Attach the SUPPLY GROUND WIRE (8.) from the
OUTLETBOX (1.), and the FIXTURE GROUND WIRE (7.) from the fixture onto the green GROUND
SCREW (14 )on the MOUNTING BRACKET (2.), Or, connect both wires together using the correct
size of WIRE CONNECTORS (13.), Place connected wires inside ofthe QUTLET BOX.

6 Slide the CANOPY (15.) and the THREADED RING (16.) of the SCREW COLLAR LOOP (6.)up
the CHAIN (17.), Place the CANOPY over the OUTLET BOX (1.),and secure inplace by screwing
the THREADED RING onto the SCREW COLLAR LOOP.

7. Screw in light bulbs that do not exceed the mayimum wattage specified on the fixture's wattage
ratinglabel. ibto the socket(s) on the fixture.

NOTE:If the bottom opening of the lamp compartment to the fixture is too narrow to allow accass
to the light buld(s). unscres the two decorative screws at the top of the lamp compartment to altow
rtto drop down for lamp replacement.

INSTALLATION COMPLETED

1. OUTLET BOX

2. MOUNTING BRACKET
3.#8-32 HEXNUT

4.FIXTURE MOUNTING SCREW
5. WHITE TO WHITE WIRE CONNECTION
6.BLACK TO BLACK WIRE CONNECTION
7.POWER SUPPLY GROUND WIRE
8. FIXTURE GROUND WIRE

9. GROUND SCREW

10. MOUNTING SCREW
11.CANOPY

12.DECORATIVE NUT

Fig.4

1.0UMET POy

2. MOUNTING BPACKET
3.1/8” "0 HEXNUT
4.5rTLE

2.5 TE TO WHITE WIRE CONNECTION

4. BLACK 7O BLACK WIRE CONNECTION
7 POWER SUPPLY GROUND WIRE
{ 2 EIATURE G ROUND WIRL
9.GROUMD GCREW
| 19.MUNTING SCREW
11.CANOPY
12 DXCORATIVE NUT

!
i

@

© -

e 10.

1. QUTLET BOX
2.MOUNTING BRACKET
3.MOUNTING SCREW

4 NIPPLE

5. 1/8"IPS HEX NUT
6.SCREW COLLAR LOOP
7.FIXTURE GROUND WIRE
8.SUPPLY GROUND WIRE

9. WHITE SUPPLY WIRE
10.RIBBED FIXTURE LEAD WIRE
11.BLACK SUPPLY WIRE
12.SMOOTH FIXTURE LEAD WIRE
13.WIRE CONNECTOR
14.GROUND SCREW

15.CANOPY

16.THREADED RING

17.CHAJN .
18.FIXTURE LOOP




/’} .

INSTALLATION INSTRUCTIONS

PLEASE READ CAREFULLY AND SAVE THESE
INSTRUCTIONS, AS YOU MAY NEED THEM AT A LATER
DATE.

CAUTION . Turn off the main power at the circuit breaker before

installing the fixture, in order to prevent possible shock.

Remove the fixture and the mounting package from the box and make

sure that no parts are missing by referencing the Illustrations on the
instaliation instructions.

FOR WALL MOUNT (Fig. 1 &2)

1 A)Place the #8-32 HEX NUTS (5.) onto the #8-32 FIXTURE MOUNTING SCREWS (7.)
and attach the FIXTURE MOUNTING SCREWS (7) tothe MOUNTING BRACKET (4.), or
universal mounting plate,(whichever is provided). Do not tighten the HEX NUTS at this time.
(Fit. 1)

B) If the fixture uses a single 1/8” IPS NIPPLE (7.) for mounting, thread the 1/8" IPS HEX
NUT (5.) ontothe NIPPLE, and screw the NIPPLE intothe MOUNTING BRACKET (4.),
wrthout tightening the HEX NUT. (Fig. 2)

2. Pull the power supply wires out from the OUTLET BOX (3.), and mount the MOUNTING
BRACKET (4.) or the universal mounting plate to the OUTLET BOX, using MOUNTING
SCREWS (6.).

3. Attach the power supply wires to the fixture lead wires by connecting BLACK to BLACK
(10.), and WHITE to WHITE (8.), Attach the POWER SUPPLY GROUND WIRE (11.) From
the OUTLET BOX (3.)and the FIXTURE GROUND WIRE (12.) from the fixture to the green
GROUND SCREW (13,) on the MOUNTING BRACKET (4. ), or connectboth wires together
using the correct size of wire connectors.

4. Place the CANOPY (14.)on the fixture over the OUTLET BOX (3.) and onto the fixture
mounting screws [or NIPPLE (7.)], and adjust the #8-32 fixture mountingserews (or MirFLE)
until they protrude out from the CANOPY 1/4", Remove the CANOPY and securs the posivon
of the fixture mounting screws (or NIPPLE) by tightening the HEXNUT(S) (5.) aigainst the
MOUNTING BRACKET(4.), Placethe CANOPY back onto the fixture muunting screws (or
NIPPLE). and secure intoplace using the DECOREATIVE NUTS (15 j Pruvided.

5. Screwthe TAIL SECTION (17.) (if provided) onto the COU™LING (18.) lcrated at the
bottom of the lamp compartment.

6. Screw a light bulbthat does notexceed the maximum watiage spaciied on the fixture
label. intothe socket located inside the lamp compartment. Piace (e iamp cover onto the
top of the lamp compartment, and secure in position uzi1j the decoratve head screws
provided

INSTALLATION COMPLETED

FOR POST MOUNT {Fig. 3)

1. Place the fixture on the top ofthe POST (8.) onwhich the fixtureis to be mounted and
posrtion as desired. Using the holes located on the POST CAP(3.) mark the hole position
on the POST.Remove the fixture from the POST and drill a 1/8" diameter hole ateach
marked pcsrtion on the POST

2. Pullthe power supply wires out fromthe POST (9.) and the fixture lead wires out from the
POSTCAP(3.),and attach the wires together by connecting BLACK to BLACK (6.)And
WHITE to WHITE (5.).Attach the POWER SUPPLY GRQUND WIRE (7.) tothe FIXTURE
GROUNDWIRE (8) using a wire connector rated for the size of wires being connected.

3. Place the connected wires down inside the POST(9.), and mount the POST CAP (3.)In
place, aligningthe holes inthe POST CAP with the ones on the POST. Secure the POST
CAP to the POST using #10X1/2"long self - tapping SHEET METAL SCREWS (4.) Provided.

4. Screw a light buib thatdoes not exceed the maximum wattage specified onthe fixture

label, into the lamp socket. Place the LAMP COVER (1.) onto the top of the lamp
compartment, and secure in position using the DECORATIVE HEAD SCREWS (2.) Provided.

INSTALLATION COMPLETED

1. TOPCOVER
2. DECORATIVE SCREWS
3. OUTLETBOX
4. MOUNTING BRACKET
5. #8-32 IPS HEXNUT
6. MOUNTING SCREWS
7. FIXTURE MOUNTING SCREW
8. WHITE TOWHITE WIRE CONNECTION
9. CUPPED WASHER (IF provided)
10.BLACK TO BLACK WIRE CONNECTION
11.POWER SUPPLY CROUNO WIRE
12.FIXTURE GROUND WIRE
13. GROUND SCREW
14.CANOPY
15.DECORATIVE NUT
16.TAJL PIPE
17.TAJL SECTION

17.

1.TOP COVER

2. DECORATIVE S.REWS
3. OUTLET BOX

4. MOUNTYNG BRACKF T
5. 1/8"it =X NUT

‘NG SCREWS

8.
; o]
5. ¥/mTE TO WHYINT W RE CONNECTION
2. CUPPZL WASKER. (IF provided)
10.RLACK TC BIACK WIRE CONNECTION
1% P2WER SLPALY CROUNO WIRE

12.FIXTURF. GROUND WIRE
l 12.GR JUNT SCREW
14.CANOPY
| 15.0E:SORATIVE NUT
l 16.TAJL PIPE
17 TAJL SECTION
18.COUPLING

o et e T

Fig. 2

o

17.

1.LAMP COVER

2.DECORATIVE HEAD SCREW

3.POST CAP

4.SHEET METAL SCREW

5.WHITE TO WHITE WIRE CONNECTION
8.BLACK TO BLACK WIRE CONNECTION
7.POWER SUPPLY GROUND WIRE
8.FIXTURE GROUND WIRE

9.POST




	111.pdf
	2

